[

FC

( \ Copyright FCI. ( \ \4 ( \ ( \
~ -~ -~ -~
1 | 2 FClconnect.com 3 | 4
PRODUCT NUMBER
20020009—XXXXXXXLF
POLES LF : DENOTES ROHS COMPATIBLE
PITCH 02: 2 POLES
. 03: 3 POLES
C: 3.50 mm 04 4 POLES 1 : STANDARD PRODUCT
D: 3.8 mm : W/ BOX PACKING
G: 5.00 mm
H: 5.08 mm .
24: 24 POLES SCREW CODE
CODE SCREW TYPE AVAILABILTY
PROPERTY TABLE
FCI SERIES NAME_[02-350 | 02—381 [ 02-500 [02-508 A |-+ €@ | onREQUEST ONLY
PITCH (mm) | 3.50 3.81 5.00 5.08 HOUSING CODE ———
VOLTAGE RATING (VAC 300 300 300 300 B - STANDARD
c(ULus) 8 8 12 12 CODE COLOR AVAILABILTY %
CURRENT RATING (A ALL FLANGE SCREWS ARE ONLY AVAILABLE IN +/—
1-WIRE ~ ~ ~ ~ 2 BLACK ON REQUEST ONLY
A APPLICABLE WIRE RANGE (AWG) 16~28 | 16~28 12~24 | 12~24 Q
2-WIRE 20 20 18 18 3 GREY(RAL 7004/P) ON REQUEST ONLY
1-WIRE 1.5 1.5 2.5 2.5
WIRE CROSS SECTION SOLID 2-WRE 05 05 0 0 4 BLUE(RAL 5015/A) | ON REQUEST ONLY
(mm?) 1-WRE| 1.5 1.5 2.5 25 NOTES:
STRANDED 2-WRE| 0.75 0.75 1.5 15 1. MATERIALS
7 1—1 HOUSING: THERMALPLASTIC RESIN, UL 94V—-0 RATED.
OPENING ngg%g%ﬂg%'(“m )) 2817 | 287 | 26x3.3 | 2.6x3.5 1—2 SCREW AND FLANGE SCREW: STEEL, ZINC PLATED.
mm)| 6~7 | 6~/ 67 | 67 1-3 CLAMP: COPPER ALLOY, NICKEL PLATED.
TORQUE +/-10% (N-m/Lb—in)| 0.19/1.7|0.19/1.7 | 0.4/3.5 | 0.4/3.5 1—4 TERMINAL: COPPER ALLOY, TIN PLATED.
SCREW | M2x0.4 | M2x0.4 | M3x0.5 | M3x0.5 2. PRODUCT SPECIFICATION REFER TO FCl GS—12—625.
cULus 16 16 16 16 3. BOXED PACKAGING,
WITHSTANDING VOLTAGE (kV) - - . . DETAILED PRODUCT PACKING SPECIFICATION REFER TO FCI GS—14—1394.
VDE 2.5 2.5 NA NA 4. FCl, SAFETY CERTIFICATE LOGO AND SERIES NAME TO BE SHOWN ON
OPERATING TEMP. (C) —40~+115[-40~+115 | —40~+115 |-40~+115 PRODUCT SURFACE.
~ ~ ~ ~ 5. THE PRODUCTS WHERE THE PART NUMBER END IN "LF” MEET THE EUROPEAN
POLES AVAILABLE 02~24 | 02~24 02~24 | 02~24 UNION DIRECTIVE AND OTHER COUNTRY REGULATIONS AS DESCRIBED IN
GS—22-008.
mat’l. code surface tolerance rojection |product famil
SAFETY CERTIFICATE ASME Y145 \/ ASME Y145 proj P y TERMINAL BLOCK
Itr |ecn noldr |date tolerances unless otherwise spediﬁe@g title
A | T10-0062 | WL | 050710 andles 5 X.10.5[.020] MM TERMINAL BLOCK
B | T10-0127 | WL | 080910 9 | X.X+0.3[.012] [INCH] PLUGGABLE PLUG, SIGNAL, ENTRYSIDE HOOK
C | T10-0140 | WL | 090310 | X’+1°|7| X.XX+0.1[.004] |scale W/FLANGE
D | T10-0155 | WL | 093010 |dr |WENDY CHEN | 042310 a dwg no sheet 1 of 5|size
E | T10-0187 | WL 121410 |engr| JASON HSU 042310
F | T11-0013 | wL | 040811 |chr [GARY HSIEH | 042310 F_c‘_y)' 20020009 A4
G |T-004860 | WL 080411 [appd| JOSEPH HSIA | 042310 type CUSTOMER Drawing B
B sheet |revision| G [ G| G [ G| G
index |sheet 1121 3]14(5
I form: A4mmXLc 1 2 I PDS: Rev :G3 STATUS:Released Printed: Sep 042011 I



I [ Y
( \ Copyright FCI. ( \ F\_c-//) ( \ ( \
- - - -
1] 2 FClconnect.com | 3 4
PRODUCT NUMBER  |SERIES NAME | PITCH
20020009—-CXXXXXXLF| 02-350 3.50 mm
Dim C
Dim D —
©8
N,
5 A
122Y22\ e Y8.Y a7 -5
d d d " { O
@ DN DD @ <
/L \ FLANGE SCREW M2.5
[ ?889] (0.4 N = Number of poles
Dim A . . -
D) A [NX3.5[.138 A
~ 02.8x1.7 | g Dim B [(N—1)X3.5[.138]
Y 1T Y 1 T Y 1 \:J D'11OX'O67 Dim C NX[.138]3.5+9.6[.378]
[ ! CLAMP Dim D [(N=1)X3.5[.138]+8.6[.339]
|
o \ ' o HOUSING Poles Tolerance
m§ i 2p—6p +0.15[.006]
o~ ; 4 7p—12p :tO.ZO:.OOB]
= LB EL B OEL — | TERMINAL 13p—16p | £0.25[.100]
] ] ©O| L] ' 17p—24p | £0.30[.012]
] (O Dfo
o ]
Al RRE
I
[31'28 P SECTION P—P mat’l. code i;::dﬁis\/ leeEr?{Tf: projection |product family TERMINAL BLOCK
: . It dr |dat tolerances unless otherwise sj ediﬁe& 3 titl
3 29 to Bp with V\{edge,gbove7p S B e qnglesa X‘ioj[_ozo]p MM T'ERS,,NAL BLOCK
[ 169] Dim B without wedge(lncludlng 7P) o XX+0.3[.012] [INCH] | PLUGGABLE PLUG, SIGNAL, ENTRYSIDE HOOK
- X£1°7| X.XxX+0.1[.004] [scale W/FLANGE
dr |WENDY CHEN | 042310 a dwg no sheet 2 of 5[size
o] FCJ 20020009 |As
B lappd| JOSEPH _HSIA | 042310 'J type CUSTOMER Drawing |
sheet |[revision
index |sheet
PDS: Rev :G3 STATUS:Released Printed: Sep 042011 I

I form: A4mmXLc

1 2|




| N N FC N N |
( Copyright FCI. ( \_-y) ( (
- - - -
1] 2 FClconnect.com | 3 4
PRODUCT NUMBER SERIES NAME | PITCH
20020009—DXXXXXXXLF 02-381 |[3.81 mm
Dim C
Dim D cO_g
N
—1— - = N
\_ —
\FLANGE SCREW M2.5
. 1 N = Number of poles
Dim A BES [.fo‘é] SCREW Dim A [NX3.81[.150]
~—P Dim B |[(N—1)X3.81[.150] A
A T Y T T 71 02.8x1.7 PR Dim C |NX3.81[.150]+9.6[.378]
0.110x.067 &
// /w CLAMP Dim D |(N=1)X3.81[.150]+9.0[.354]
Eéf} HOUSING Poles Tolerance
— ) h Tl © 2p—6p | +0.15[.006]
;«Nu 7p—12p | +0.20[.008]
N~ 3 L -
. TERMINAL 13p—16p | £0.25[.100]
LBV f -
©Q
LON %
s
3.81 P SECTION P—p
[.150] .
4.5 2p to 6p with \(Nedge,obovegp
177 Dim B ithout wedge(including 7p ; 7 ol o :
[ ] mat’l. code i;:EiniS\/ ;MGEF?{T:?: projection [product family TERMINAL BLOCK
Itr |lecn nol|dr |date tolerances unless otherwise spediﬁe@g title
G angles 5| X.%0.5[.020] MM TERMINAL BLOCK
o] X.X+0.3[.012] [INCH] | PLUGGABLE PLUG, SIGNAL, ENTRYSIDE HOOK
XET| | xxx+0.1[.004] |scale W/FLANGE
dr |WENDY CHEN | 042310 a dwg no sheet 3 of 5[size
engr| JASON HSU 042310
A POON S e Fg) 20020009 A4
lappd| JOSEPH _HSIA | 042310 type CUSTOMER Drawing |
B sheet |[revision
index |sheet
1 PDS: Rev :G3 STATUS:Released Printed: Sep 042011 I

I form: A4mmXLc




[

A
/\ Copyright FCI /\ Fg /\ /\
\_ opymInt T \_ ‘J \_ \_
1 2 FClconnect.com 3 | 4
PRODUCT NUMBER SERIES NAME [ PITCH
20020009—GXXXXXXLF| 02-500 5.00 mm N = Number of poles
Dim C Dim A | NX5.0[.197]+0.5[.020]
Dim B | (N=1)X5.0[.197]
<< Dim C NX5.0[.197]+10.0[.394]
Dim D | (N+1)X5.0[.197]
CON_ NN N ,
@ \J \YJ /QJ \J Dim E | NX5.0[.197]
T T Poles Tolerance
FLANGE SCREW M2.5 2p—6p +0.15[.006]
7p—12p +0.25[.010]
4.75 12.6 13p—18p | +0.30[.012]
Dim A [.187] [.496] 19p—24p | +0.40[.016]
2.75
[.108] [1%2850] SCREW
P——
7/ 02.6x3.3
// 0.102x.130 o'? CLAMP - —
‘L ! o
A ¥ \g ¥ = HOUSING A
S NI S i
; &2 o o
g == 5
RIHEAE | 9 b
- ’/ | MR Yo TERMINAL
oM — =
]— //l ! _—! = HOUSING 5
2.5 P 5.8 P
.228 _ _
Dim E
. SECTION P—P
Dim D
:.1‘89: Dim B
mat’l. code surface tolerance |projection |product family
5189- ASME Y14.5\/ ASME Y14.5 @_6 TERMINAL BLOCK
[¢3 98 : i Itr |ecn noldr |date tolerances unless otherwise spedifie title
G o|  x.+0.5[.020] MM TERMINAL BLOCK
0.118] ";51' angleg @ X.X+0.3[.012] [INCH] | PLUGGABLE PLUG, SIGNAL, ENTRYSIDE HOOK
X£1°7[  X.XxX+0.1[.004] [scale W/FLANGE
dr |WENDY CHEN | 042310 dwg no sheet 4 of 5[size
B ! '@'B'@' engr| JASON HSU | 042310 i
© @® © A POON S e ng 20020009 As
1.6 lappd| JOSEPH HSIA | 042310 type CUSTOMER Drawing B
B [¢.06%:| / [ B W sheet |[revision
index |sheet
I form: A4mmXLc 1 | 2 I PDS: Rev :G3 STATUS:Released Printed: Sep 042011 I



I_ N\ N FS,_:/) N N —I

\ ) Copyright FCI. \ \ P \ P
1 | 2 FClconnect.com 3| 4
PRODUCT NUMBER SERIES NAME | PITCH
20020009—HXXXXXXLF 02-508 5.08 mm N = Number of poles
DimC Dim A [NX5.08[.200]+0.5[.020]
Dim B |(N—1)X5.08[.200]
\K Dim C |NX5.08[.200]+9.66[.380]
\ Dim D [(N+1)X5.08[.200
Ve N ar e/ Va7 m D _N+1)X5.08]. 200]
J \J \{ \J Dim E |NX5.08[.200]
i | \FLANGE SCREW M2.5 Poles Tolerance
' ' ' 2p—6p +0.15[.006]
4.83 7p—12p :I:O.20:.008]
Dim A [.190] 12.6 13p—18p | +0.30[.012]
2.79 [.496] 19p—24p | +0.40[.016]
[.110]
P— SCREW
| _SCREW
7/
/ / Oy CLAMP - -
L\ I O”’)
i \ ¥ B HOUSING
A 3 |H s X
Y 0O
ﬁ g) N‘; = TERMINAL © | ﬂEj - °
VT TTINE — o] ' B M
= ai=l R[S i
B 02.6x3.3 L)) : —
| 0.102x.130 [
2.54
Lise)] | P— 35 2
Dim E
Dim D SECTION P—P
5.08.
.200 Dim B
mat’l. code surface tolerance |projection |product family
ASME Y14.5\/ ASME Y14.5 @_6 TERMINAL BLOCK
Itr |ecn no|dr |date toleruncei unless otherwise spedifie title
G angles S X.£0.5[.020] MM TERMINAL BLOCK
o] X.X%0.3[.012] [INCH] | PLUGGABLE PLUG, SIGNAL, ENTRYSIDE HOOK
X£1°7|[ X.XxX+0.1[.004] [scale W/FLANGE
dr |WENDY CHEN | 042310 a dwg no sheet 5 of 5[size
engr[ JASON HSU | 042310
?1.6 chr [GARY HSIEH | 042310 F_c‘_y)' 20020009 A4
B [2.063] lappd[ JOSEPH_HSIA | 042310 type CUSTOMER Drawing|
sheet |[revision

index |sheet
I form:  A4mmXLc 1 | 2 I PDS: Rev :G3 STATUS:Released Printed: Sep 042011 I



